
Number: 



(do not write your name)


Final Exam

 SUBJECT  \* MERGEFORMAT 

Exam #1
CS 355


Try to think of the most important and inclusive issues in answering these questions.  Do not exceed the space provided.  Please do not change the allotted space.  You may have two hours from the time you download the exam.  You may not consult any course materials or notes during that time.
(
Please answer either question 1 or question 2.

1.
In what way is each of the following related to Affect and why is that relationship adaptive?

Boredom:

Confusion:

Learning:

2.
Give three concrete suggestions on how to effectively share knowledge:


(a)

 (b)

 (c)

(
Please answer question 3.
3.
What is the significance of each of the following to the learning process?  Choose any three.

Arousal:

Consolidation:

Prediction:

Clarity:

Inhibitory interference:

(
Please answer either question 4 or question 5.
4.
We have been discussing executiveless, distributed information processing systems and some of their inherent dangers, such as lack of high level control, lack of focus, and the possibility of getting cognitively stuck.  What is the role of each of the following with respect to these dangers?

Fatigue:

Regional inhibition:

Global inhibition:

5.
How are pleasure and pain related to each of the following concepts:

Cognitive maps:

Molar learning rules:

Clarity:

(
Please answer either question 6 or question 7.
6.
Briefly describe the two modes of human navigation and the cognitive construct central to each mode.

(a)

(b)


What sort of conditions would favor one or the other being used?

(c)

7.
Discuss the role of sequence in the cognitive map with regard to the following:

How is sequential information coded in the cognitive map?
(a)

What is the adaptive benefit of this information to the organism?
(b)

How are intersecting sequences handled?  Why is this important?
(c)

(
Please answer either question 8 or question 9.
8. What is the significance of each of the following themes in this course?  Choose any three of the following:

a) the object

b) sequence 

c) economy

d) fatigue

e) inhibition

9.
Each of the following concepts has a significant relationship to the issue of economy in one or more ways.  Choose any three of the following and describe that relationship:

Compactness:

Affect:

Molar learning rules:

Semantic transparency:

Hierarchy:

Internal model:

(
Please answer either question 10 or question 11.

10.  Why doesn’t Frodo simply hop on one of the eagles that Gandalf rides on, and have it take him to Mount Doom?
11.  Why do you think Slytherin House continues to exist if it turns out evil wizards?  Focus upon Dumbledore’s state of mind in your answer.

(
Question 12 is optional.
12.
You undoubtedly have thoughts left over from studying for this exam.  Supply a thoughtful, integrative question you wish you had been asked and provide a brief, interesting answer.
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